JR AR AH BE

1004

RO RS 113 B B = R MBS SRR S o

:_ﬂi IEEE?"E 80~89

4
- CEBREFRLAEAR =3

R, 34 Pl o EKe 2 38 4, 3T, -
(L BEFORIAEEACRIRIES | (1130 )R 24 B dle R A

BFeX-Br & Fralzfer i
- 2 ( ) B ( ) A5 e

T efTe e Q
D720 @3000 @4500 @ 5. BErR AL 3 RiEEAr ( )
6400 IEEE o ReRipcsti#L ()
BBl — AR A AL B KL

( 2. Rlrg? B¢ Ers By 2 5 CE ) Src gl o

E‘ﬁ 3 -~ wRz, — é%m’ ’fﬂ n 4 2] &
L RoAI ML 6. Arist:di 5 iR

(
AR T Rk .
KeIRTE B, Rokipcsh: A ( )

/\Séﬁ-% ) \g, x o 5 5 _
pos @5 9. Pii A ( %

()4 TFr@i—-EEFEKIEL | 10 10 /85 100 BLAI= (

D421+7 ©@868:8 (3290+3 11, A Ea LB R 3, LBk e 33,

| D200s5 WEiA ()
- ‘i:?riﬁr"ﬁ CER] A E 234

LN RIKLR I ELEIR 650 | 2 FWEEF C FHR2AL 24
(e (EAR @RI R AR TR B AT

2. 80xh0= ( ) 857 KL 9
8x500=( )

= ( ) B
@2L650mL + 350mL = ( L+
350mL = ( dmL=( )L

| I i



e U00000
wisisiwisly

T’TZV'@'}Z}‘%; ( ) ﬁ%:zD ’ ;QEF*

ToA (
Ar2awrdlekin 2 ()

) B (

() e
gii,-—-—\gi’; ’ Di\:‘(zv/'\?\ 1 %E/ﬁ;/&%
R SN TR S R N R TEY

PrRaE L S A %
M
bk < \\
~
77 T2

OFLB: @A 2-( Jem? o

@z -BE:r@mifa £ ( Yem® o
@Az B @it £ ( Yem” o
@T:Es@mafa £ ( Yem? o

3. 79239=

5. 628+6=

4. 809+4=

6. 3L50mL—1L450mL =

_’{\ii—g—:z/,,\

1.

1.

N &%ﬂ-{g :

Tih — BT RB S LIRER
AR Ei AR AR Rl ey ki S
/XE ét °

=
X

T N9 /\ﬁ
0 _‘.‘l]—_z_ix

lcm

»

Nl

=354 A

ReEsZ s 8 sm Rodk — B &k
TiREs > Byl kg T
|e > Kikz 8k 5 M8 > B T2 4
i HERATIEVEIAR K29




1R
quug
e

.
xR

6 3%

LK

5.

8

=
EN

i)
o~ A

&

7
x

»
2

S B
B UIR L

X

A

K«

X
N L

’

*

GE

.
rX

B9

n

-1

A\

+
%

«
N\ %

2

&3

\"
5y 5%

7
5

R
77

A

<'<,BF
40 A

<

2

e fml &
e fEl 9

%
T
Y

721 18

_ wo g
"R
2

F\

A

%

LTI A

%
A

#

7.
8.

U
[

o
/.
<
.
pxX

o

N
[y

R

LalN}

L0
<

&
®

X

AR

.
PR

DX
A
I
4

N
U0
S

~
IR

K

>
= |

&
=5

7

X 2] 7
NP

5

By s, B IR

3
™%

b
\é{JZ 21’91 ’ CF

23R

2.

S0

7
\

2

" B B

7
AN

3

10 7

7
\

82

A %

I
Y

7

%

T

Cr |

o5 BBz

F

AN E

*

T £ 048
R LTk

X

4.

n 24

2

£

r
X
T

52 K5

Y

N

L

y

’

B 9

4
X

MR E 22U
TS AR R AR





